Math 102 - Spring 2012 - Test 4
7y

Instructor: Dr. Francesco Strazzullo Name
Instructions. Only calculators are allowed on this examination. Each pr oblem is worth 20 points.
Always use the appropriate wording and unils of measure in your anSWErs (when applicable). You might
need the following formulae:
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SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. Solve the following logarithmic equation and check the solution(s)
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2. Use a calculator to evaluate to the third decimal place the following expressions:

(a) logy b= 5
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3. Because of the weakening of the U.S. dollar, U.S.-based corporations are generating a growing share

of their sales overseas. The following table shows the percent of sales made abroad in selected fiscal

years.

Zoms 4 A0 Vear Percent | Year Percent Vear Percent
‘ (years) % (vears) (years)
2004 32.3 F| 2006 42.7 9 2008 44.7

2005 38.9 5| 2007 43.8 0| 2009 45.2
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(a) Consider = the number of years from 2000 and y the percent of sales made abroad, then draw a
scatter-plot of the given data.
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(b) Using your calculator, find both the quadratic and the logarithmic models which best fit the data.
Report your answer to the third decimal place. Report and use the correlation coefficients to say

which of these models is the best fit for the given data. P
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(c) Use the (unrounded) best model to compute the expected percent of sales made abroad in 2011.
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4. You are shopping for a simple investment of $4000 that you expect to cash in 3 years. T'hey offer you
two options:

(a) a monthly compounded account at 4.5%;

(b) a quarterly compounded account at 5.25%.

Compute which option is the best deal for you.
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5. You are offered the following two retirement plans:

(a) a one time payment of $200,000, or
(b) a monthly payment of $2,000 for ten years.

If you can assume a constant inflation rate of 4.5%, which option is more valuable when you retire?
Why?
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